3 1 6 S 4 3 fa Active

@2021 TE Connectivity. Al Rights Reserved. ‘ REVISTONS
P A R T P LTR DESCRIPTION DATE DWN APVD
REV DESCRIPTION
NUMBER A2 | REVISED PER ECR-21-117516 i8ocT2021 | GK | YY
£399162-1 ¢ Hv DIt SET B | ECR-21-122544 sonov2021 | K| v
[-23597672-1 C CRIMP TOOLING KIT C | ECR-22-133949 20MAR2022 | LS | TE
9-23597672 -1 C DIE SET WITH DIE HOLDER Cl REVISED PER ECR-23-187199 155EP2023 | GK KH
TERMINAL NAME MM HV, BODY, PLATED
TE TERMINAL PART NUMBER(S)|2-2141211-2
3-2141211-2
APPLICATION SPECIFICATION |114-94083
REFERENCE DRAWING -
USED ON 2305470~ | 23263718
INSTRUCTITON SHEET 408-35334
CABLE SUPPLIER/ CRIMP HEIGHT
SPECIFICATION |WABLE STZE \CRIMP HETOHT fpr rrrpNcE SETTING
COROPLAST
CHLR2GCR 26 35MM?Z 8,0 £0.15 D2
COROPLAST
CHLR2GCR 26 50MM?Z 8.8 £0.15 C5
Q
(} 1 - - - 2305470-1 |HV DIE HOLDER WITH FINE ADJUST 100
Q) W - W - 18028-72 WASHER, FLAT, REG M4 119
() 2 - 2 - 1-18023-6 |SCR, SKT HD CAP M3 X 25.0 118
4 - 4 - 519021-17 NUT, HEX - 11T
1 - 1 - 519059-4 |SPRING-TYPE STRAIGHT PIN - 116
4 - 2o - 1-18023-5 |SCR, SKT HD CAP M4 X 25.0 115
E;;;j 1 - I - 2-18023-1 |SCR, SKT HD CAP M5 X 20.0 114
W - I - 6-222872-3 |SPRING, COMPRESSION 11
1 - 1 - | 8-653861-7 |SPRING, COMPRESSTON 1 10
W - W - 2305469-1 |RETAINER, SPRING 9
1 - 1 - 2305821-4 |PIN, EXTRUSION - 38
W - W - 2386384-1 |LEVER - 1
1 - 1 - 2401532-1 |WIRE STOP - o
W - W - 2386383-1 |SHAFT - 0
1 - 1 - 2386446-2 |HOLD DOWN - 4
W - W - 2305468-2 |LOCATOR, HV TERMINAL 3
1 1 1 - 2386452-1 |ANVIL HVM F 2
A W W W - 2386453-1 |CRIMPER HVM F W
APPLY "DIE SET PN" PER TEC-115-67-2 IN APPROXIMATE AREA SHOWN. 91 l-771 -1 Nusm SART NO SESCRIPTION I&EM
A [ DENTITFY PART NUMBER AND REVISION LETTER PER TEC-T15-67-2 THIS DRAWING IS A CONTROLLED DOCUMENT. [P . -~ 04FEB20Z] - o
N APPROXIMATE AREA SHOWN. N L =TE o
DIMENSTONS: OTHERW [SE SPECIFIED: | APVD 04FEB2021 |NAME
ZL IDENTIFY SERIAL NUMBER PER TEC-115-67-2 IN APPROXIMATE AREA SHOWN. il - e DIE SET HY BMM-30 T 30-00MMZ
4. TORQUE RECOMMENDATIONS PER 101-35000 UNLESS OTHERWISE SPECIFIED. @i
MRTERIAL s ) = WEIGHT . A ‘ 00779@‘:2359762
- - CUSTOMER ACCESSIBLE PRODUCTION DRAWING SALE o O e

4805 (3/13)




	Sheet 1
	Views
	new_view_21
	new_view_25



